Lecture Notes:
Homework ONLINE is to be completed and due for each section covered in class prior to the next class meeting in pencil with each problem labeled and worked shown.

Additional homework from textbook or Blackboard is assigned in this lecture notes in Red outside of Coursecompass.  It is your responsibility to make sure these are done.
Whole Numbers are 0, 1, 2, 3, 4, 5, 6, 7, 8, 9, 10, 11, …
Natural numbers are 1, 2, 3, 4, 5, 6,…
1. 2  Place Value & Names

Digits: 0, 1, 2, 3, 4, 5, 6, 7, 8, 9 can be used to write numbers.

a) page 7 for diagram of place values
b) writing whole #s in words and standard form.  Period is a group of three digits starting from the right separated by commas.  Write the number in each period followed by the name of the period except for the ones period.

c) Expanded form of a number shows each digit of the number with its place value.

1. 4  Rounding and Estimating
1. locate the digit to the right of the given place value
2. If this digit is 5 or greater, add 1 to the digits in the given place value and replace each digit to its right by 0.  (The rule for decimal number following the decimal point is to round accordingly and drop all digits after the given value behind the decimal point).
3. If the digit to the right of the given place value is less than 5, replace it and each digit to its right by 0

Estimating can be used to check sums and differences.
1. 3 Adding & Subtracting Whole Number and Perimeter

sum is the total.

addend is the term in the addition problem

minuend: first # in a subtraction problem
subtrahend: the # after the subtraction sign
difference: result of the subtraction
Perimeter is the distance around the shape and is in a sum of linear units such as m, ft, inch and is 1-dimensional.
page 21 Translation of word problems tables
1. 5 Multiplying Whole Numbers and Areas & 9.3 Area, Volumes, and Surface Area

page 43: multiplication examples after axioms discussion
Area is 2-dimensional by multiplying two dimensions of a shape so units are in ft2, cm2, in2 
Volume – the Exercises 9.3 online has fractions and decimals, etc. so I have a separate sheet 9.3 Worksheet in Faculty Frontdoor for you to print out and work on.


V (for rectangular prism) = B • H • W

Volume is 3-dimensional by multiplying 3 dimensions so units are in ft3, cm3, in3 , etc.  

1. 6  Dividing Whole Numbers
90   ÷   3 = 30

Dividend             Divisor        Quotient

Division Properties of 1 - Special Cases:
a) The quotient of any number (except zero) and itself is 1:  a ÷ a = 1 except a = zero
b) The quotient of any number and 1 is that same number.  a ÷ 1 = a
Division Properties of 0

a) The quotient of 0 and any number (except zero) is 0:  0 ÷ a = 0

b) The quotient of any number and 0 is not a number and is undefined.  a ÷ 0 = undefined

c) 0 ÷ 0 = indeterminate means one can’t tell without context 

You try these problems:

1.






2.
3.






4.
Long Division and Averaging:

1. guess closest number to the portion of dividend by divisor starting with left most digit

2. multiply the guess by divisor

3. subtract the product from those digits

4. bring down the next digit to right of dividend
5. repeat as needed

Ex.   426/7
You try these problems:

3,332/4
2016/42

Remember to use estimation (≈) to check your quotient OR use multiplication of quotient and divisor together to match the dividend number.  Remainder is what the “leftover”.
The Average of a list of numbers is the sum of the numbers divided by the number of numbers.  
Example:  I use averaging for my gas costs so that I know approximately how much it will cost weekly.

Ex. $49, $46, $45, $48, how much does it cost me weekly to buy gas?

1.7  Exponents and Order of Operations  how many bases get multiplied

23 = 2 • 2 • 2 = 8 

2 is the base







3 is the exponent
BEWARE:


a) 23 ≠ 2 • 3 where one multiplies base with the exponent

b) 23 ≠ 2 • 2 • 2 • 2 where one multiplies base and the number of times of exponent in addition

n0 = 1

You try:

1)  73





2)  115

3)  35





4)  20
Order of Operations – Very Important!!!!
G  





{d[c ÷ (a + b)] - e}
xy or √

*/

+ -
|a – b| group, implied group, start with the innermost set
Ex. 1     32 + 8/2

Ex. 2
 (16-7) ÷ (32 – 2•3)

Ex. 3
 |6-2| + 17

Ex. 4
 3÷3 + 3•3

Ex. 5
 (6 + 9÷3)/32 =

Ex. 6
 62 (10-8) = 

Ex. 7
 53 ÷ (10 +15) + 92 + 33 = 

Ex. 8 
(40+8)/(52-32) =

Ex. 9
 (3+92)/[3(10-6)-22-1]

Ex. 10

 [15 ÷ (11-6) + 22] + (5-1)2 = 

2.1  Introduction to Integers


Negative numbers are numbers that are less than 0.  Integer is a set of positive and negative numbers (are whole numbers and its negative inverse).  All rules applied to whole numbers are applicable to integers.
a) applications: temperatures, height of ladder, depth of swimming pool

b) graphing

c) Comparing


The inequality symbol > means “is greater than” and < means “is less than”.  Note that the arrow ALWAYS point to the smaller number.


Ex. 5 < 7



10   ?    -15

d) Absolute Value of a number is the number’s DISTANCE from 0 on the number line.  It is always 0 or POSITIVE.  |x| is the absolute value of x.  If x> 0 then the absolute value of x is x

If x < 0 then the absolute value of x is –x which brings us to opposite numbers.

______________________________

e) Opposite of a number is written in symbols as “-“.  So if a is a number, then -(-a) = a

Ex. the opposite of -4 is  ?___

1.8  Introduction to Variables, algebraic Expressions, and Equations


a) use a variable to represent a pattern such as we have been using in our axioms

b) algebraic expressions:


Ex. 3x + y – 2

Ex. x3

Let x=7, y=3 evaluate the expressions.

Ex. x2 + z -3, x=5, z=4  Evaluate


c) evaluating an algebraic expressions on each side of the equation gives a solution which is a value for the variable that makes an equation a true statement

Ex. 5x + 10 = 0

Ex. 2x + 6 = 12


d) Translating phrases into variable expressions p. 79 and p. 82

2.2  Adding Integers

a) use the number lines to add positive and negative integers.
When adding two numbers with the SAME sign:
1. ADD their absolute value.  
2.  use their common sign as the sign of the sum

Ex. -7 + (-3) =


Ex. 5 + 7 =


Adding two #s with different sign:

1. find larger absolute value minus smaller absolute value


2. use sign of the number with larger absolute value as sign of the sum.


Ex. -17 + 9 =



Ex. 8 + (-7)

If a is a number, then -a is its opposite so a+(-a)=0 and use commutative -a+a=0.
b) Algebraic Expressions

Evaluate algebraic expressions by given replacement value always in parentheses

Ex. 3 x + y =  ? 

 given x=2, y=4



 3( )+( ) =

Ex. 4 z + y =   ?

given z=1, y=2


 4( )+( )=

c) Solving Problems


Ex. p. 111, #70.
Worksheet for 9.3 answer sheet – calculate volumes for each objects below

1.
24 cm3


2.  30 cm3
3.
45 cm3


4. 8 cm3
5.  1 cm3



6. 24,000 cm3
7.  36 cm3



8.  24 m3
9.
7 mm3



10. 99 m3
11.
 360 cm3


12.  54 cm3
13.
  180 m3


14.  2,520 m3
15.
  6,750 cm3

16.  576,000 mm3
17.
  144,000 cm3
18. 36,750 cm3
19.
  729 mm3


20.  600 cm3 

Chapters 1 and 2 Vocab in the TXTBK pp. 84-85 #1-21 ALL and p. 150 #1-13ALL

2.3 Subtracting Integers – change the subtraction problem into addition using additive inverse (its opposite).
1) If a and b are numbers, then a–b = a +(-b)

a. Ex. 5 – 7 = 5 + (__)
Ex. 12 – (-2) = 12 + (__)

2) Evaluate expressions – make sure the variables match the actual values
Ex. 2 x  –  b let x=2, b=1


 2( ) – ( )

Ex. 5 x – 7 y let x=-1, y=-2


 5( ) – 7( ) = ____

You try these:

1. x – y; let x = -7, y=1

2. |-15| - |-29|

3. |-8-3|

Integer on page 119 problems 70 and 72
Tiger Woods finished the Cialis Western Open golf tournament in 2006 in 2nd place, with a score of -11, or 11 under par.  In 82nd place was Nick Watney, with a score of +8, or eight over par.  What was the difference in scores between Watney and Woods?

Mauna Kea in HI has an elevation of 13,796 feet above sea level.  The Mid-America Trench in the Pacific Ocean has an elevation of 21,857ft below sea level.  Find the difference in elevation between those two points.

You try these:
1. -6 – (-6)

2. subtract 10 from -22

3. 16 – 45

4. -6 – (-8) + (-12) – 7

2.4  Multiplying and Dividing Integers


a)  The product of two numbers having the same sign is a positive numbers.


(+)(+) = +


(-)(-) = +


b)  The product of two numbers having different signs is a negative number.


(+)(-) = -


(-)(+) = -

Ex. 2(7)(-2) = ____

Ex. (-7)(-2) = ____

Ex. -5(-8)(-2) = _________

Extension: the product of an even number of negative numbers is a positive result.  The product of an odd number of negative numbers is a negative result.

(-5)2  ?  -52  

Remember that parentheses make an important difference


c) The quotient of two numbers having the same sign is a positive number.


Ex. 


d) The quotient of two numbers having different signs is a negative number.


Ex.

Let’s solve:


a) 2xy, let x=7, y=-2


b) 4x/y, let x=3, y=2


c) p. 128 problems 112, 120
Joe Norstrom lost $400 on each of seven consecutive days in the stock market.  Represent his total loss as a product of signed numbers and find his total loss.

At the end of 2005, United Airlines posted a full year net income of -$21,176 million.  If the income rate was consistent over the entire year, how much would you expect United’s net income to be for each quarter?

2.5  Order of Operations

G  






{d[c ÷ (a + b)] - e}
xy or √

*/

+ -

|a – b| start with the innermost set

pp. 137-138

88/(-8-3)

Problem 58  

Problem 64

Problem 68

You try these:

|12-19| ÷ 7

(2-7)2 ÷ (4-3)4  

Problem 76

Homework:  Chapters 1 & 2 Highlights, Reflections in Portfolio, Chapters 1 and 2 practice Test

2.6  Solving Equations

We simplify expressions and solve equations using


==simplify==(
G  







<===solve===

Solution: a number that makes the equation true.

Addition/Subtraction property of Equality:

Let a, b, and c represent numbers.  Then, a=b and a + c = b + c are equivalent equations.

Also, a = b and a – c = b – c are equivalent equations.

Multiplication/Division Property of Equality:

Let a, b, and c represent numbers.  Then,

a=b and a•c=b•c are equivalent equations.

Also, a=b and a÷c=b÷c are equivalent equations.

11x = 10x – 17

p. 148 #36 & #44

You try these:

38. 17z = 16z + 8

42. n/5 = -20

TEST CORRECTION: direction given in Portfolio – rewrite, correct, explain error in words
3.1 Simplifying Algebraic Expressions 

We simplify expressions and solve equations using


==simplify==(
G  







<===solve===

Combining Like Terms:
Addends are the terms of the expressions, and combining is like doing cleaning.  Like terms have the same variable and exponent.
p. 168 #10    5b – 4b + b – 15

#22
-8(8y + 10)

#32
3(5x – 2) + 2(3x + 1)

p. 169 #66
-(12ab – 10) + 5(3ab – 2)

#70 3x – 4(x +2) + 1

Use distributive property to combine terms:

ac + bc = (a + b)c

Also,

ac – bc = (a – b)c

Are -7xz2 and 3z2x like terms?

You try these:

1. -12x + 8x 

2. -2(x + 4) + 8(3x – 1)

3. 3(x + 2) – 11x

4. 5y – 4 + 9y – y + 15

Perimeter, Area and Volume Review on p. 167:

p. 170 #86. How much fencing will a rancher need for a rectangular cattle lot that measures 80 ft by 120 ft?

#88. Find the perimeter of a triangular picture frames that measures x inches by x inches by (x-14) inches.

3.2 Solving Equations: Review of the Addition and Multiplication Properties

This is the continuation of Chapter 2 Add/Multiplication Property of Equality.

We just learn how to combine terms; we are going to extend from simplifying expressions to solving equations.

10 = 2m – 4m

-8 + 6 = a/3

13x = 4(3x-1)

p. 176 Ex. 8 
2 – 6 = -5(x + 4) - 39

P. 177 Translate Ex. 9 & Practice Prob 9

76. A number subtracted from 12

80. The quotient of -20 and a number, decreased by three

88. A number decreased by 14 and increased by 5 times the number

Solve equation: Twice the sum of a number and -5 is 4

You try these:

The product of -6 and the sum of a number and 15

-4(x + 7) – 30 = 3 – 37

8x – 4 – 6x = 12 – 22

Homework: TEXTBOOK Vocab page 201 #1-13 ALL, Chapter Highlights pages 201-203 READ, Chapter 3 Reflection

3.3 Solving Linear Equations

Linear equations in one variable or first-degree equations in one variable.

We simplify expressions and solve equations using


==simplify==(
G  







<===solve===

Steps for solving an equation:

1. if parentheses are present and no inside like terms, use the distributive property

2. combine like terms on each side of the equation (remember laundry - separate socks from shirts from pants) ( simplify

3. Equality Principle: collect variable terms to one side and constant terms on the other.  Always undo with an INVERSE.  Solve (
4. divide both sides by the numerical coefficient of variable to solve.

5. check the solution

Note that we are using all the properties for integers to simplify and solve.

Ex. 1 
4x – 11x = -14 – 14

Ex. 2
2(z – 2) = 5z + 17

Ex. 3
14 + 4(w – 5) = 6 – 2w

Ex. 4 
12 + 5t = 6(t + 2)

Ex. 5
4(2t + 5) – 21 = 7t – 6

Ex. 6
Negative 2 times the sum of 3 and 12 is -30

You try these:

1.
7 – z = 15 

2.
-3x = 51

3.
3(5c + 1) – 12 = 13c + 3

3.4 Linear Equations in One Variable and Problem Solving

We simplify expressions and solve equations using


==simplify==(
G  







<===solve===

Steps for solving an equation in Section 3.3.
Translate: pages 21, 177 and 192 have tables for translating English to mathematical equation

Ex. 1
Solve the sum of a number and 2 equals 6 added to 3 times the number.

Ex. 2  A woman’s $57,000 estate is to be divided so that her husband receives twice as much as her son.  How much will each receive?

Ex. 3 Twice a number, subtracted from 60 is 20.  Find the number.

Ex. 4 Eight decreased by a number equals the quotient of 15 and 5.  Find the number.
Ex. 5 Seven times the difference of some number and 1 gives the quotient of 70 and 10.  Find the number.

Be aware that if you translate the problem inaccurately, the solution you obtain will check against your mathematical equation but is not the answer to the question.

You try these:

1. five subtracted from a number equals 10.

2. two added to twice a number gives -14.

3. A Toyota Camry is traveling twice as fast as a Dodge truck.  If their combined speed is 105 miles per hour, find the speed of the car and of the truck.

Homework: , READ page 730 sections 10.1, 10.2, 10.3, TEXTBOOK Vocab pages 730 #5, 6, 7, 8, Portfolio Chapter 10 Reflection
10.1 Adding and Subtracting Polynomials

Addends of an algebraic expression are the terms of the expression.

A term is a monomial if the term contains only whole-number (0, 1, 2…) exponents and no variable in the denominator.

Ex.



	Monomials
	Not Monomials

	3x2
	2/y or 2y-1

	-0.5a2bc3
	-2x-5

	7
	


A polynomial is a monomial or a sum and/or difference of monomials.

	Types
	

	Monomial
	Exactly one term (addend)

	Binomial
	Exactly 2 terms (2 addends)

	Trinomial
	Exactly 3 terms (3 addends)


To add polynomials, use commutative and associative properties to combine like terms.

MUST:  To subtract polynomials, change the signs of the terms of the polynomial being subtracted, then add so we can apply addition properties to combine like terms.  

Evaluating polynomials is the same as evaluating any expression by substituting the variable with the replacement value.

p. 708 #6
(5x2 -6) + (-3x2 +17x -2)

#16
(-9z2 + 6z + 2) – (3z2 + 1)

# 20 subtract (4a2 + 6a +1) from (-7a + 7)

#38 (3z2 - 8z + 5) + (-3z3 - 5z2 - 2z - 4)

# 54 x=5 find the value of 4x2 – 5x + 10

You try these:

1. #4 (8a2 + 5a – 9) + (5a2 - 11a + 6)

2. #22 subtract (16x2–x+1) from (12x2–3x-12)

3. #44 let x=2 evaluate -5x - 7

10.2 Multiplication Properties of Exponents

Recall from Section 1.8:   23=(2)(2)(2) or x4=x•x•x•x

so if we have x3•x4= (x•x•x)(x•x•x•x)






   = x•x•x•x•x•x•x = x7

Product Property for Exponents:

If m and n are positive integers and a is a real number, then am•an = am+n  

note: multiply two exponential expressions with same base a, keep the base and add the exponents

y2•y3 = y2+3 = y5

Use commutative and associative to simplify a term and expression.

2x3•3x1•5x6 =(2•3•5)x3+1+6 = 30x10

Power Property for Exponents:

If m and n are positive integers and a is a real number, then (am)n = am·n  

note: to raise a power to a power, keep the base and multiply the exponents.

(y2)3 = (y2) (y2) (y2) =y2+2+2 = y6

Power of a Product Property for Exponents:
If n is positive integer and a and b are real numbers, then (ab)n = an·bn
The power of a product is the product of powers.

(xy)3=xy•xy•xy= (x•x•x)(y•y•y)=x3y3

page 716 

#4
b•b4=

#12
b•7b10•5b8=

#24
(2y)5

#28
(8a5b7)2

#32
(2xy)4(3x4y3)3
You try these:

1. y4y7
2.  (a9)3
3. (2y)3
10.3 Multiplying Polynomials

using the Distributive property and combine like terms

(x+2)(x+3)

FOIL method, but the product is the same no matter what order or method we use.

Page 723, Ex 2.
4y(10y3 + 2y)

Ex. 8
(y+5)(y+9)

Ex. 36

(4a-3)2

Ex. 38 (3y2+2)(5y2-y+2)

Ex. 42 (2b2-4b+3)(b2-b+2)

You try these:

1. 2x(3x2-3)

2. ex 10
 (7z+1)(z-6)

3. ex 14
(y+4)(y2+8y-2)

Homework: Chapters 3 & 10 Highlights; Blackboard Reviews
4.1 Introduction to Fractions and Mixed Numbers

Why do we need fractions?  concrete models:  order ¼ of chicken, parts of what is left, not everything is equal to a whole, ¼ cup of milk for mac and cheese, building supplies have fractions, discount.  Buy one get one half off, pie charts

What do they look like?  First we are going to discuss what they look like mathematically, numerator/denominator.

Fraction mark separate numerator from the denominator and the fraction marks implied division.

Reminder: a/a=1; 0/a=0; a/0=undefined; 0/0 indeterminate; a/1=a

One more model in the homework graphing on a number line.

Graphing: 1, -1, 3, -5

Graph: 10, -10, 30, -50

Graph: ¼, -¼, ¾, -5/4

You can choose the scale!!!!  Google Earth zoom into scale.

Write a mixed number as an improper fraction:

ex) 1 13/17 = 30/17 whole is 17 and 13 = 30 out of whole

ex) 2 5/9 = 2 whole of 9 pieces each (18) + 5 pieces out of 9 = 23/9

ex) 7 3/8 draws the box 7 times?  multiplication 8*7 + 3 = 59/8

multiply whole number by denominator + numerator is the new numerator.  “Clockwise” method go around like a clock.

3 2/5 = 5*3 + 2 = 17/5

You try these:

1. 12 5/9; 9*12=108; 108 + 5 = 113; 113/9.

2. 6 5/8; 6*8=48; 48 + 5= 53; 53/8.

4.2 Factors and Simplest Forms

1) write a composite number (is a natural number greater than 1 that is not prime) as a product of prime numbers.  From our Lab on prime numbers we know that on page 227, a prime number is a natural number greater than 1 whose only factors are 1 and itself.  Therefore, the natural number 1 is neither prime nor composite.

Every whole number > 1 has exactly one prime factorization.

pp 228-229 Divisibility tests:

even #s

sum divisible by 3 or 9

5 if ends in 0 or 5

6 if divisible by 2 or 3

4 if last 2 digits are divisible by 4

order of prime factorization doesn’t matter, but starting with 2 and going up keep accounting much easier.

bring Equivalent fractions to simplest form which is a fraction written in lowest terms where the numerator and the denominator have no common factors other than 1. --- remember the Hershey bars

If the cross products are not equal, the fractions are not equal.

¾ = 6/8

so is 6/15 equals ? 34/85 cross multiply and also prime factorization and eliminate common factors to demonstrate this fact.

You try these:

1. 25z/55z

2. -28/60

3. is 6/21 and 14/35 equivalent?

4.3 Multiplying and Dividing Fractions

What does it mean for multiplying?  Multiplying means “OF” ½ of ¾ ? ½ of ¾ is 3/8  use brownies as example with 1 quarter gone and divide the ¾ into ½ so if use then still 3/8 left.

How do I do this mathematically?  We 

½ * ¾ = 1*3/(2*4) = 3/8 Voila

2* ¾ = ? Oh no ( 

2/1 * ¾ = 6/4=3/2 prime fractorization

All fractions are rational numbers, rationalized.

Multiply: numerator* numerator; denominator* denominator

Simplify before you multiply!

ex) 2/7*7/13= simplify by canceling so 2/13

ex) 4/11*3/8= 4*3/(11*4*2) = 3/22 Prime factorization

You try these:

1. -3/11 * (-11/12) = 3/12 
2.  5/32*64/100=(5*2)/100 = 2/20 = 1/10

3.  -2/3*6 = -2*6/(3*1)=-12/3 = -4

What about exponents?  just repeated multiplication.

When in doubt span it out…

(8/9)2 = (8/9) * (8/9) = (8*8)/(9*9) = 82/92 distribute the exponent to the numerator and denominator.

What do we usually talk about when we talk about multiplication?

Remember:  Multiplicative INVERSE a*1/a=1

Division is multiplying the first fraction by the reciprocal of the second fraction.  

Flip the numerator over the denominator for the divisor.

Ex) 5/8 / (3/4) = 5/6 the 5/8 doesn’t change keep the dividend the same; flip the divisor so ¾ is 4/3.  

You try these:

1. 10/11/(4/5) = 10/11*(5/4) = 2*5*5/(11*2*2)=25/22 be careful to change the operation before simplifying

2.  -5/6/10=-5/6*1/10=-5*1/(6*2*5)=

-1/(6*2)=-1/12

3. 5/8÷¾ = 5/8*(4/3)=5*2*2/(2*2*2*3)=5/6

4. -4/15÷-8/3=-4/15*(-3/8)=

(-4*3)/(3*5*-4*2)=1/10

5. 3/y2÷9/y3 = 3/y2*(y3/9)=3*y*y*y/(y*y*9)=y/3

Homework: Read TXTBook pages 314-318 Chapter Highlights

4.4 and 4.5 Adding and Subtracting Like and Unlike Fractions, Least Common Denominator, and Equivalent Fractions

How would you add 3 quarters and 4 dimes?  Is it just 3 + 4?  These two units of money do not have the same denomination so therefore we must first convert it into the same denominator (same units)

Ex) 1/3 + 1/3

1/3 box of high school memory for freshman and sophomore; must clean up with exact same size so each box hold 3 sections. so 1/3 combine with 1/3 becomes 2/3

When we add or subtract fraction with same denominator, we add or subtract the numerators, but we keep the denominator the same.  In 4.5 we have different denominators.

box has 3rds, but second box has quarters so draw to picture of boxes with 12 compartments and add up the pieces.

When we add/subtract, we need the same denominator.

Whatever I do to the denominator, I must do the numerator.  When all else fails, multiply the first denominator by the second denominator to get common denominator.  This is easy but the number may get big.

OR

LCD = Least Common Denominator is the same as Least Common Multiple (LCM) and is the smallest positive number divisible by all denominators in the list of fractions.

Steps to get the least common denominator (using prime factorization is the least tedious to bring unlike fractions to like fractions before adding/subtracting):

1) find prime factorization for each denominator

2) go left to right to compare, select the greatest # of times that factor occurs in any one denominator factorization

3) when missing a factor multiply it

Ex) 5/6 + 1/12

Prime factorization 2*3 and 2*2*3

2*2*3

so 5*2/(6*2) + 1/12 = 11/12

Once we get the LCD we write each unlike fraction as an equivalent fraction before adding/subtracting.

Don’t forget to simplify when possible for the sum or difference.

For which operation, must the fractions have same denominator before performing?

Ex) -5/9 + 1/3 = ?

Prime factorization of 9 is 3*3, 3 is 3

-5/9 + (1*3)/(3*3) = -2/9 simplified

p. 263 examples 52, 94 and p. 274 ex. 88

You try these:

1)  2/15+2/5 = -4/15

2)  11x/35 + 2x/7 = 11x/35 + 10x/35 = 21x/35 = 3x/5

3)  5-y/20 = (rationalize it) 5*20/20 – y/20 = (100-y)/20 does not equal to 20-y because if y=20 so 4 for the expression but 20-20 is 0
Homework: Chapter 4 Vocab and read Hightlight, Blackboard Reviews Fractions. 

4.6 Complex Fractions and Review of Order of Operations

A complex fraction is a fraction whose numerator or denominator or both contain fractions.

To Simplify

1) I mentioned before that fraction bar means division so we can take the simplified numerator and multiply the reciprocal of the simplified denominator.  Remember your order of operations and treat the whole numerator as a group separate from the denominator group.

OR 2) find the LCD of all the fractions in numerator and denominator, then multiply that with the complex fraction as LCD/LCD.

Ex. page 285 #54

Ex 52)

WARNING: Do NOT use this method for adding/subtracting fractions since multiplying LCD through would change the sum/difference value since we do not have an additional denominator to multiply by the same LCD to make the identity of 1.

4.7 Operations on Mixed Numbers

1) est on graph and also quick calc

2) mult or div mixed or whole #s, write these as improper fractions, then mult/div as usual.

3) add/subtract fraction parts and then whole number parts.  You may have to borrow from your whole in the minuend if your subtrahend fraction part’s numerator > the numerator of the minuend.

Ex) page 295 Practice problem 21, 22, 23 and 24

4.8 Solving Equations containing Fractions

1) To solve equation, you may multiply through by the LCD on both sides of equations.

2) Order of operations is next GERMDAS

3) combine like terms for each side of equation

4) principle of equality

page 311, Exercises 62, 66, 70; page 312 2 & 4

Homework: Chapter 4 Reflection, Practice Test, Textbook vocab, highlights. ‘You Can Do It’ Lab
5.1 & 5.2 Introduction to, Adding and Subtracting Decimals

Whole number part . decimal part

Decimal part has place value that starts with tenths, hundredths, …

In writing out the decimals, write the whole number part in words, “and” for decimal point, and decimal in words as whole EXCEPT followed by the place value of the last digit.

Hint: When converting a decimal from words to decimal notation, make sure the LAST digit is in the correct place by inserting 0s.

Writing Decimals as Fractions and compare decimals.  Compare from left to right

Ex.  26.208   26.28

Comparing two negative #s, compare their absolute values, then reverse the direction of the inequality symbol.

Rounding decimals to a place value to the right of the decimal point.

1) locate the digit to the right of the given place value

2) if this digit is 5 or greater, add 1 to the digit in the given place value and drop all digits to its right.  If this digit is less than 5, drop all digits to the right of the given place.

Adding/subtracting decimals:

1) write the decimals so that the decimal points line up vertically

2) add/subtract as with integers

3) place the decimal point in the sum or difference so that it lines up vertically with the decimal points in the problem.

4) Recall that 0s may be placed after the last digit to the right of the decimal pt without changing the value of the decimal.

Examples given in class

1) Simplifying expressions with decimals

2) solving problems by adding and subtracting decimals

5.3 Multiplying Decimals and Circumference of a Circle

Ex. 0.6 x 0.03 = 6/10 * 3/100 = 0.018

Ex. 0.03x0.002=3/100*2/1000=6/100000

notice the pattern and set rule to avoid converting to fraction.

1) multiply as though they are whole numbers

2) decimal point in the product is placed so that the number of decimal places in the product is equal to the sum of the number of decimal places in the factors.

Use estimation when multiplying to check answer: 28.06x1.95 is approx 28x2

Note pattern of multiply by Powers of 10 such as 10, 100, 1000, etc.: shift the decimal point to the right the same number of places as there are zeros in the power of 10.

Ex. 46.8*10=

Ex. 203.004*100

Ex. -2.33*1000

Note pattern of multiply by Powers of 10 such as 0.1, 0.01, 0.001, etc.: shift the decimal point to the left the same number of places as there are decimal places in the power of 10.

Ex. 6.94x0.1

Ex. 3.9x0.01

Ex. (-7682)(-0.001)

Metric system

Formula for Circumference of a circle: C=2πr =πd, r = radius and d = diameter where π=3.14 or 22/7

Practice problem 14 p. 359 find C whose radius is 11m

page 361 54, 58, 60

You Try These 68 & 40

5.4 Dividing Decimals
page 370 Ex. 6 20/0.04

Ex. 12 8.304/16

put in fraction form to show that the divisor needs to be coverted to whole number by multiplying by powers of 10 both in numerator and denominator.

Steps for dividing by a decimal:

1) move the decimal point in the divisor to the right until the divisor is a whole number

2) move the decimal point in the dividend to the right the same number of places as the decimal point was moved in the divisor.

3) divide.  Place the decimal point in the quotient directly over the moved decimal point in the dividend.

Dividing decimals by powers of 10 such as 10, 100, 1000:

1) move the decimal point of the dividend to the left the same number of places as there zeros in the power of 10.

pages 370-371

Ex 16, 30, 78, 82, You Try 4, 20, 66

5.5 Fractions, Decimals, and Order of Operations

To write a fraction as a decimal, divide the numerator by the denominator.

In order to compare fraction with decimal, we first write the fraction as an equivalent decimal by the division above.

pages 383 ex 12, 24, 26, 42, 50

You try these 22, 40

Ex. 62, 70, 78, 88

5.6 Equations containing Decimals
Solving an equation for x:

1) If fractions are present, multiply both sides of the equation by the LCD of the fractions

2) distribute

3) combine any like terms for each expression

4) Undo + and – first

5) divide both sides by the numerical coefficient of x to solve

6) check your answer

pages 388-390 ex 34, 38, 64, 72, You Try 10, 20

Homework: Chapters 5 and 7 Vocab, Hightlights and Reflections
7.1 Percents, Decimals, and Fractions

Percent means per one hundred.  The “%” symbol is use to denote percent.

Conversion:

1. convert from a percent to a decimal, drop the % symbol and move the decimal point two places to the left

2. convert from a percent to a fraction, put the number over 100.

3. Convert from a decimal to a % by moving the decimal point two places to the right and REMEMBER to put % after the new number.  It is equivalent by multiply 100%

4. Multiply the fraction by 100% and divide the numerator by the denominator
p. 480 Ex. 60, 62, 64, 68, 76

You Try These: 56, 58

7.2 Solving % Problems with Equations & 7.4 Applications of %
When solving a % equation, write % as decimal or fraction.  Solve as before.

Solving an equation for x:

1) Translating the problem

2)  If fractions are present, multiply both sides of the equation by the LCD of the fractions

3) distribute

4) combine any like terms for each expression

5) Undo + and – first

6) divide both sides by the numerical coefficient of x to solve

7) check your answer

8) translating the answer to real life

Remember to read the question for what to give: decimal, fraction, %, etc.

pages 488-489 ex 12, 22, 36, 48

You Try These: 2, 6

% of increase or decrease

% of change = [(new amount – orig amount)/original amount]•100

negative % means decrease

positive % means increase

page 506 exercises 4, 12, 22, 26

You Try These: 2, 6

Homework: ONLINE Sections 7.5, 7.6, Chapters 5 and 7 TEST.

7.5 Percent and Problem Solving: Sales, Tax, Commission, and Discount
sales tax (in decimal) = tax rate • purchase price

total price = purchase price + sales tax or 

total price = purchase price • (1+ tax rate)

commission = commission rate • sales

amt of discount = discount rate • original price

sale price = original price – amt of discount

sale price = original price • (1 –discount rate)

pages 515-516 exercises 4, 8, 22, 34

You Try These: 2, 32

7.6 Percent and Problem Solving: Interest
Definition:

1) principal amount: money borrowed, loaned or invested

2) interest rate: % used in computing the interest

3) interest: money charged for borrowing

Simple interest (interest computed on the original principal)

simple interest=Principal • Rate •Time=PRT

R is $/year, T is in years

total amount = principal + interest
total amt with compound interest= P(1+r/n)nt 

n = number of times compounded per year

daily ( n=365

weekly ( n=52

biweekly ( n=26

monthly ( n=12

bimonthly ( n=6

quarterly ( n=4

semi-annually ( n=2

annually ( n=1

pages 523-524 exercises 4, 12, 18, 24

You Try These: 2, 20

Homework: Review for Final Exit Exam (right behind Test Correction direction).  The COMPLETE FEE Packet is your TICKET to take the test in the Testing Center at your schedule Final date and time.  Take time to practice!  There are also required Reviews in Blackboard online completed with 100% on the last try.
PAGE  
57

